Mn @ @ @ Max

Shift chain’
ST 0728 Skid Tyee

@ MATERIAL

® Chain material:
CPS-polyamide with glass fiber reinforced UL94-HB

® Low Noise & Low Mote:
Skid Af2oZ A2 ZtA

® Temperature : -30°C ~ +130°C

® Coefficient of Friction :
0.3~0.4 1

® Applications

Facilities and equipments requiring a long travel
distance as below; Gantry Robots, Robot Carriages,
Automatic Welding Lines, Gantry Cranes, Gantry loder,
etc.

Gantry robots, Robot carriages, Automatic welding
Gantry crane, Gantry loaders

Ax| ZH|9| AolE0] 72| 0|52 275t= MY
of #AlolE 37t R o ME,

-105-

) (€ © ¢

» Bending Radius Unit «

e Calculation of the chain length

Ls
[ L=7+Lp ]

Affer using skid for a long time, it can be replaced without
extra components.

A7|E YEOR FAZE ASS SKidE THE 4 YD
Skidks B0l 2Egio| Z2o| s,

Shift chain’

NIVHD HIHS



Using Material of High Quality!

sk e ST 0728

(@ LAYOUT OF THE CHAIN .
Ls: Stroke Lp: Loop Length  Lf: Loop Projection

(Dimensions in mm)

L 806 917 1,063 1,400 1,840 2,280 Pitch P: 72mm
| , : ' ’ Height B: 71.8mm
Lf 380 420 470 580 752 924
H 230 230 230 230 230 530 B1: 38.5mm
B2: 33.3mm

(@ ORDERING (Z=2u))

ST 072S . 175. R200 / F - 10000L : 10ST

FE2Y Q'ty(set)

A2l Zo| Length(mm)
=Rl A Free End Bracket
=54t Bending Radius
W= Inside Width
HA2EA(S)  Skid Type
Shift Chain

(@ BRACKET TYPE (22piE)

FEB (Free End Bracket)

FEB Fixes the cable chain to the machinery or moving application. CPS has improved
mounting efficiency by unifying the existing Easy End Bracket and Normal End
Bracket.

The End Bracket is designed to move up and down as the cable chain or application
requires. To add strength, steel washers are inserted into the fixing holes of each
Free End Bracket.

HOlS nH™ots BRHESZ JIE Easy End Bracket 2t Normal End Bracket& &tLt
= Eo}ol- HPAlOE xll:l_l _§_°A‘I° h:OI

42| 0|38 ST S-Typed| MEL|= Free End Bracket2 ZEHIAS XQEA €Y
oto] Hatl 299 mag WX|otH Eot ARQJME Zlst S Anst LIt Jts.

» BR should not be inserted in the joint of side band and Free End Bracket
FEBS} Z3lot= Side Bandll= BRS MUsHX| =.

» Above products are patent registered item which can be protected by industrial
property right. (47| HE2 E515E HMECZ MAMAMAE| HSE = HMELICH)

-106-



T

T
[T
O

[v3)

ST 072S.050 105 2.48
ST 072S.075 130 75 2.57
ST 072S.100 155 100 2.67
ST 072S.125 180 125 2.81
ST 072S.150 205 71.8 150 45 100, 120, 2.95
' ' 145, 200, 250, 300 '
ST 072S.175 230 175 3.07
ST 072S.200 255 200 3.49
ST 072S.250 305 250 3.89
ST 072S.300 355 300 4.23
A E4 T2 HE 715, (C:140,165,190,240) A Application of special frame. (C:140,165,190,240)
(@ FREE END BRACKET
A
: — 8-26.2(M6 Bolt Holes) 8-26.2(M6 Bolt HOI%)j :
| 1 |B g g g g Bl s £ '
i ah | 5 g g B B B g Tl i
i F= = .
E 4-936.2(M6 Bolt Holes) E
E A Front point E
le o o o o o o o o e e e e S e e e S G e S R e S e e e R e e e e e e e =)

ST 072S.050 105 50 10
ST 072S.075 130 75 85
ST 072S.100 155 100 60
ST 072S.125 180 125 85
ST 072S.150 205 71.8 150 45 110 M6 Bolt Holes
ST 072S.175 230 175 135
ST 072S.200 255 200 160
ST 072S.250 305 250 210
ST 072S.300 869 300 260
A E4 Dy HE Jts. (C:140,165,190,240) A Application of special frame. (C:140,165,190,240)

-107-

NIVHO 318VD SdO

NIVHD NIgvs

NIVHO ONIATOAIY

NIVHD XIM3H

X314SdO 1X-O90d

XI4SdO



Using Material of High Quality!

sdtee ST 0725
(@ DIVIDERS

Dividers (Vertical) and Separators (Horizontal) divide the inner chamber of the cable chain to give each cable diameter its own
center and keep the cables separated from each other. The use of a separator in some cases, can also reduce the width
requirements as two or more levels can be made within the same chamber. To prevent twisting or damage to the cables, as
a rule, there needs to be at least 10% space between the inserted cable and its enclosure.

ClHiolCi(MZ2&2ch)t Mmz|olE(7I222]t)= HMlLhol B2 A0ISS0| UME Al ACISSE M2 22lstK] AlOIS4S 7| o QIgt nj=au
2l s BifskE 912iE ot A0S 10%0149] de3ts ﬂEoHOFC’*I—IEF

L5 AOIES ML 2EH0let UMA| BIEA| MIH2|O|EE ClHO|CHof Zetotod ARZaloF #0159 MUK} DE&4S YRS 4 UFLICH

44

3.8

)

60.8

115]

» Assemble divider every Two links. / 2&l30tC 4

ot

(@ SEPARATORS (SP)

Separator is available in length from 20mm to
300mm and can be cut every 5mm for use. The
combined use of divider and sepatator with the pin
| creates the most effective cable pattern and keep
¢ insertion space for cables safely, so it protects the
inserted cables.

MIH|0[E{Q] AR ZOl= Z|A20mmSE +IEH300mm77}II AEIKSSIH Smm? 0= iG] ke Z0|2 ARRIISSILICL 37171 242 O Aoles

27(0) AB B2HE0| SOIBHL HEI0|E T Zelsiof OlE ZSOIE OGP AOIES| YNBZIS SXIGH0] AOIES EaH 4 S
(@ TIE WRAP

.
)

7
=

.......................... R
(Dimensions in mm)

A 58 75 98 122 141
B 65 82 105 129 148

The Tie Wrap separated from the Shift Chain FEB, when installed properly, protects the inserted cables from becoming entangled
and twisted during operation.

Tie Wrap2 Shift Chain®| FEBS 7|22 HIZo=Z MRSz Xl Sz gt #0[20 f&52 HUAGIIAL 1Hs = AAHRR
AolE9 mEdy & HMS WXlske S L

-108-



(@ GUIDE CHANNEL

Guide Channel

s ee ST 0728

For long stroke applications the guide channel is applied to ensure
that the Shift Chain Sliding Chain stays on track and to ensure
safety during operation. With the application of a rubber pad on
the channel floor, noise is reduced to a minimum. Guide Channels
are made of Steel + Zn and can be customized with SUS mate-
rial .

Steel Guide Channel2 22| 0|52 ST 0725 Type HE22 Chain®l 0
SIS EXeHE 710[= @22 6t Chain 0lSAl A2 £017| sl Guide
Channel HIEHO| DRIHES MERCRM ASS YRR I A7l ¥
g2 gLt

Guide Channel?| HE2 ASl + OIAEZOE MZIZ|H SUSKHAEZ F2AIE
IS

» Thickness can be changed by the product standards of material.

( Sz Azl it zof mat a2t & S )

A(C+55) A+
A 50 80
i — T | 12 1
{ } P & P % Q)
(TrITYm Ex” T, o LYTTITT Eam mE] nnnnn 3 } o & ] 9 & °
8 — 2 \ e e
FITT = = . i
; o F 8 iy ol e +
H =] ol < T 1 o~ Y
’ m A+ 1‘7 6 42? %0
’ Housing A Housing B
A+17.6
A A-zone A C-z0ne A Housing (U-shape) - ST 072S
ST 072S Side Panel
1000
80 368 368 368 80
25 o | 2
1 6 ™ Q)’\?—l
o g R
28] Q’_/' o S <t WY AR S S S I <
Qs 46.8 @
L Hole for Housing B ~ Hole for Nylonbar Hole for Housing A Hole for Housing B J 473
(@ ORDERING (Z24t41)
]
ST-GCS 072S. 175/ A, B, C: 200M
20| Length(mm)
AfO|ET Z2  Panel A, B, C-Zone
L= Inside Width
HOIZF Chain Type

Steel Guide Channel
Shift Chain

-109-

NIVHD 318V SdO

NIVHO ONIATOAIY NIVHO NIgvs

NIVHD XIM3H

X314SdO 1X-O90d

XSO



